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1. In exercises a - d determine whether the graph is connected. Whlch vertices are odd? Which vertlces

are even"
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2. Ina-d tryto give an example of each graph that is descrlbed If after several tries, you cannot find the
graph described, explam why you think that it may not be possible to find that example. ’

c A connected graph with 1 even vertex and 4 -
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b. A graph with 3 odd vertices
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d. A graph with 6 Vertices of degree 3.

3. Make up several examples of graphs By examining these graphs, exp]am why the sum of the degrees
of all the vert1ces in a graph must be an even number.
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4. Use exercise 3 to explain why a graph cannot have an odd number of odd vertices. 8
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5. Usethe graphs frofr; question #1, a - d and use Euler’s Theorem to decide whether each graph can
be traced. If the graph cannot be traced, tell which conditions of the theorem fail.
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. 6. Assume thata graph is traceable. Explain why we cannot encounter an odd vertey in the midcile of
tracing that graph. » t | :
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7. If we are to trace a graph with two odd vertices, explain why we must start at one odd vertex and end
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at the other. L
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